

## LWENGO RURAL DEVELOPMENT SUPPORT ORGANISATION UGANDA P.O BOX 1906, MASAKA

Tel. +256(0)772881694 / +256(0)702881694

Email: jjuukoanthony@gmail.com / www.lwengo-uganda.com

March 1, 2019

## PIGGERY CONSTRUCTION COMPLETION REPORT

We're grateful for the great work that has been done to construct a piggery multiplication centre at LWERUDESO.

The construction process started in December 2018 and has finally been completed this month February. This has been possible because of the endless support financially provided by Lwengo Kids Foundation and the partners.

Due to availability of materials and labor pay for the workers that have been a great motivation for the workers, the construction process has really been very effective and efficient.

The building has been raised, floored, plastered, roofed and closed for the security of the pigs so they can't be stolen or even jump out.



There is a good drainage system to avoid the sty being water flooded and wet both inside and outside the building.



There are nice feeding troughs for the pigs that can be used at all stages of the pig and favorable to clean for the caretaker.



This building has been given a runway in case it's time for the pigs to mate, play or exit whenever necessary.



It has been given 12 big sized docks to accommodate 10 female pigs and 2 male pigs. The rooms are big enough so that the pigs can move freely around at all stages.



The roof area was freely made to allow average sunlight, and efficient aeration for the pigs as an essential for their growth and development.





The rooms were shut with strong iron bars right from the entrance to ensure maximum security of the pigs.



We are therefore hopeful that this great work being done shall benefit the vulnerable families of our community especially the families of the sponsored children under Lwengo Kids Foundation.

This will be possible because all these to be done, parents were already informed and taught on how the process shall be as every family is expected to receive a piglet, rear, multiply and also give back to the project as a way of saving for the child. Money saved shall be for supplementing school fees and buying requirements for the child in his/her later levels of education.

Attached is a detailed expense report for all the activities, labor and materials purchased.

Apparently the construction is done therefore we need money for stocking the pigs.

We are therefore grateful for this genuine cause of improving the livelihood and wealth of the vulnerable population of the people in our community.

The earmarked up-to-date expenditure and income is hereby elaborated.

completion expense report for piggery project				
7/1/2019				
Item	quantity	units	Rate (ug. Shs)	amount(ug shs)
wheel kenrub	1		25,000	25,000
nails 2'	1	kg	5,000	5,000
nails 4'	4	kg	4,500	18,000
nails 5'	10	kg	4,500	45,000
nails 6'	8	kg	4,500	36,000
Iron sheets G32 Kiboko	80	pcs	21,500	1,720,000
Hoop Iron Big Roll	1	Rolls	35,000	35,000
Tororo Cement	53	Bags	30,000	1,590,000
bricks	10000	pcs	180	1,800,000
labor				1,200,000
Total				6,474,000
Expenditure brought forward				8,570,000
TOTAL EXPENDITURE				15,044,000
AVAILABLE AMOUNT FOR EXPENDITURE				

Thanks,

Yours

JJUUKO ANTHONY
EXECUTIVE DIRECTOR